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X୐ = 31,83 Ω ✓

X୐ = 2πfL✓
      = 2 × π × 50 × 0,5✓
      = 157,08 Ω✓

Z  = ඥRଶ + (X୐ − Xେ)ଶ ✓

      = ඥ120ଶ + (157,08 − 31,83)ଶ ✓      �
      = 173,46 A✓

Vୡ  = I × Xେ ✓
      = 1,38 × 31,83✓
      = 43,93 V✓

Xେ = ଵ
ଶ஠୤େ

C  = ଵ
ଶ஠୤ଡ଼ి

✓

     = ଵ
ଶ×஠×ହ଴×ସଶ,ସସ

✓

     = 0,000075 F = 75 μF ✓

I = ୚౎
ୖ ✓

   = ଶସ଴
ଵଶ଴✓

   = 2 A ✓

✓

✓ ✓

✓
✓

X୐ = Xେ

I୘ = ටIୖ
ଶ + (Iେ − I୐)ଶ ✓

     = ඥ0,83ଶ + (0,63 − 0,5)ଶ ✓
     = 0,84 A ✓

I = ୚
ୖ

V = I. R ✓
    = 0,83 × 120,487✓
    = 100 V ✓



Z = ୚
୍౐
✓

    = ଵ଴଴
଴,଼ସ
✓

    = 119,05 Ω ✓

cosθ = ୍౎
୍౐

θ      = cosିଵ ୍౎
୍౐
✓

          = cosିଵ ଴,଼ଷ
଴,଼ସ
✓

          = 8,85° ✓�
✓
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V୔ୌ = ୚ై
√ଷ

 ✓

        = ସସ଴
√ଷ ✓

        = 254,03 V ✓

✓
✓

✓

ƞ = ௢௨௧௣௨௧
௜௡௣௨௧

× 100% ✓

   = ଶଶ଴ × ଺,ହ
ଷ଼଴ × ସ,ହ

× 100% ✓
   = 83,63% ✓

V୐ = V୔ୌ ✓
      = 380 V ✓

Power factor = cosθ
θ = cosିଵ power factor ✓
   = cosିଵ(0,89) ✓
   = 27,13° ✓



S = √3V୐I୐ ✓
   = √3 × 380 × 27 ✓
   = 17 770,84 VA = 17,77 kVA ✓

P = √3V୐I୐cosθ ✓
   = √3 × 380 × 27 × 0,89 ✓
   = 15 816,05 W = 15,82 kW ✓

P୘୓୘ = Wଵ + Wଶ + Wଷ
Wଷ    = P୘୓୘ − (Wଵ + Wଶ) ✓
          = 28,75 − (12 + 7,5) ✓
          = 9,25 kW ✓

✓

✓

✓

𝑡𝑎𝑛𝜃 = √3 ቂௐభ ି ௐమ
ௐభ ା ௐమ

ቃ

𝜃        = tanିଵ[√3 × ቀଵ଺,଺ ି ହ,ହ
ଵ଺,଺ ା ହ,ହ

ቁ]
           = 41,02° ✓
𝑃𝑜𝑤𝑒𝑟 𝑓𝑎𝑐𝑡𝑜𝑟 = 𝑐𝑜𝑠𝜃

= cos (41,02) ✓
= 0,75 ✓
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V୐୔ = V୔୔ = 6 600 V ✓
V୔ୗ = ௏ಽೄ

√ଷ

       = ଷ଼ଵ,଴ହ
√ଷ

✓

       = 220 𝑉 ✓
𝑡𝑢𝑟𝑛𝑠 𝑟𝑎𝑡𝑖𝑜 = 𝑉௉௉ ∶  𝑉௉ௌ ✓
= 6 600 ∶  220 ✓
= 30 ∶ 1 ✓

𝑉௅ௌ = √3𝑉௉ௌ
𝑉௉ௌ = ௏ಽೄ

√ଷ ✓

       = ଵଵ ଴଴଴
√ଷ

✓

      = 6 350,85 V = 6,35 kV ✓

𝑆 = √3𝑉௅௉𝐼௅௉ ✓
   = √3 × 33 000 × 9,72 ✓
   = 555 572,62 VA = 555,57 kVA ✓

𝑃  = √3𝑉௅ௌ𝐼௅ௌ𝑐𝑜𝑠𝜃
𝐼௅ௌ = ௉

√ଷ௏ಽೄ௖௢௦ఏ ✓

     = ହ଴଴ ଴଴଴
√ଷ × ଵଵ ଴଴଴ × ଴,ଽ ✓

     = 29,16 𝐴 ✓

𝐼௅௉ = √3𝐼௉௉
𝐼௉௉ = ூಽು

√ଷ
✓

      = ଽ,଻ଶ
√ଷ ✓

      = 5,61 𝐴 ✓

ƞ = ௉ೀೆ೅
௉ೀೆ೅ା௟௢௦௦௘௦

× 100% ✓

   = ହ଴଴ ଴଴଴
ହ଴଴ ଴଴଴ାଵ ଼଴଴

× 100% ✓
   = 99,64 % ✓
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𝑃 = √3V୐I୐cosθ ✓
    = √3 × 380 × 24 × 0,8 ✓
    = 12 637,04 W = 12,64 kW ✓

Ƞ = ௉ೀೆ೅
௉಺ಿ

× 100% ✓

    = ଵ଴ ଴଴଴
ଵଶ ଺ଷ଻,଴ସ × 100 ✓

    = 79,13 % ✓

%slip = ୬౩ି୬౨
୬౩

nୱ = ୬౨
ଵିୱ୪୧

✓

     = ଷ଴଴଴
ଵି ଴,଴ସ

✓

     = 3125 rpm ✓
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P = √3V୐I୐cosθ
I୐ = ୔

√ଷ୚ైୡ୭ୱ஘
✓

    = ଺ ଴଴଴
√ଷ×ଷ଼଴×଴,଻଼

✓

    = 11,69 A ✓

(PLS’s)
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